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Sregfile = "m8def.dat"

Scrystal = 8000000

Sbaud = 9600

Baud = 9600
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Data_out Alias Portd.4
Config Data_out = Output
Data_out=0

Busy Alias Pind.3
Config Busy = Input

Clk Alias Portd.2
Config Clk = Output
Ck=1

Wait 3
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'*************************SUB***************************************************

Declare Sub Play_voice(byval N_wave As Word)

Declare Sub Time_to_end_voice()
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'*****************\U““ABLE*****************************************************

Dim Track As Word
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'***********************************“AA'N****************************************

Do

Incr Track

Call Play_voice(track)

Time_to_end_voice

If Track = 6 Then Track =0 ' BARAYE 6 VOICE 0001.AD4 ~ 0006.AD4

End
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'***************************************SUB************************************

Sub Play_voice(byval N_wave As Word)

Clk=0

Waitms 2

Shiftout Data_out, Clk, N_wave, 1,16, 200
Waitms 30

Clk=1




Waitms 10

End Sub

Sub Time_to_end_voice()
Do
Loop Until Busy =0
Waitms 30
End Sub
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7.5.3.TIMING WAVEFORM IN TWO LINE SERIAL MODE
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